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Homework Assignment No. 1 (Modified)
Due on Monday, August 26, 2002

1) (a.) Find the dc current, Ing, and the dc voltage,

Vp@. of the diode in the circuit shown if Viy is +10V. 2kQ

+
Assume the large signal model for the diode is a short VINC
circuit when vp = 0V and an open circuit when vp < )

OV. (b.) Repeat part (a.) if Viy=-10V.

2.}y Problem 4.52 of text.

3.} A pnp BIT circuit is shown. (a.) Find the dc values of I, /-,
Ip, Vg, Voand Vit 8= 50 and Vip(on) = 0.65V. (b.) For what
value of R does the BJT become saturated? (Recall that

saturation of a BJT corresponds to the BE and BC junctions
forward biased.)

4y Problem 5.47 of the text.




